OXI XOXI 205 line
assembly
instructions

ver.02 - 08.2011



TIME SEQUENCE TO BE FOLLOWED:

1. STRUTS AND PLATFORMS 7. NOUGHTS AND CROSSES ACTIVITY PANEL
2. PE ARCHWAYS 8. STEPS PANEL
3. SLIDES 9. ROOFS
4. CLIMBING BOARD 10. UNDERGROUND LAYING/ANCHORAGE OF THE
5. PARAPETS STRUCTURE
6. BENCHES
Le misure scno espresse in cm. @@M%@%@
tenominazione ] A .
Calori e modelli rappresentati efo cliente : istruzioni di montaggio
sona puramente indicativi LINEA OXI X0X| 205
4
firma esecutore ; ‘%@ data: 04082011 |™ pag.1




- P T
S P
{ H//J 5/ wth
N T SN TR .
\ I
5 T~ '>,

Le misure scno espresse in cm.

SHLZECES

denominazione

istruzioni di montaggio

Celori e modelli rappresentati efo cliente :
sono puramente indicativi LINEA OXI XOX| qu
2 schema montanti
firma esecutore : ‘%@ data: 08.08.2011 | pag.1

O

",



) Article Quantity NAME
—// num.
A
-~ 1 2 PE nut protection cap
2 2 PE cap
3 2 IS07089 @8 washer
4 2 M6 3x60 TEFR SCREW
]
. |
NOTA BENE: it is recommended to fix the bolts
definitively and only insert the caps once the
| correct positioning of the elements has been
| verified.
Le misure sono espresse in cm. &5 XZ%@EE,@
denominazione istruzioni di montaggio
Celori e modelli rappresentati efo cliente : - :
sone puramente indicativi plana!e ¢ montanti
" linea OXI
. ) 7 ) nr.
firma esecutore : ?z@ data : 22.07.2011 pag.1f1




NOTA BENE: it is recommended to fix the bolts definitively and only insert the caps once the correct
positioning of the elements has been verified.

1. Position the archway between the struts and fix it by inserting: 1x M8 washer (3), 1x M8x260 TORX
screw (2), 1x 025 mm. winged PE cap (1) into the upper part;

1 x PE nut protection cap (4), 1 x M8 washer (3),

1 x M8x260 TORX screw (2), 1 x PE cap (5) into the lower part.

v

N
_ M
T T | |
I 1 J’/
“T -- NN
) @@ ) HH

™ ) ”7

2. Repeat the operation for the opposite
side. Fix the other archways.

Le misure scho espresse in cm. @@M@@E‘@
denaminazione istruzioni montaggio
Celori e maodelli rappresentati efo cliente : entrata in Pe

sona puramente indicativi

N MAX-SULTAN-OXI-0ASIS
firma esecutore : % data : 03.03.2011 . pag. 1/1




NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the

T elements has been verified.

r 1. Insert the (5) M8x70 threaded bars into the
\ bushes present on the (6) climbing board.
2. Attach the climbing board (6) by
introducing the threaded bars (5) into
\ the pre-drilled holes in the platform
\ frame; these were previously fixed by

inserting the PE nut protection cap (4),

(2) and PE cap (1).

l M8 washer (3), M8 self-locking nut and
|

~ } 1) 2 x PE cap
( J ,\\ 2) 2 x M8 self-locking nuts
L / /”1\ 3) 2 x M8 washer
- \ e 4) 2 x PE nut protection cap
\\ i’\ 5) 2 x M8x70 LG* threaded bar
*LG: Wood h‘\ @ J 5) 2 x M8x50 AL* threaded bar
\L///
Le misure sona espresse in cm. W= =k(er
Colori ¢ modelh rappresentati d;’no:ﬂirlafion(- istruzioni di montaggio
te indicativi efo cliente : I
Isgn:rg;rl'n:n:ﬁ':i:.:allin‘ra“:)auévlsqrr da 84 o 144 em Pedana di risalita Pe
Il pranale rappn:stn‘ratoémdlcatwojm Max l Sultan f Aladin l oxi
firma esecutore : I ) data: 17.06.2011 |"" pag.1




1. After having fixed the PE archway (2], place the body of the (3)
curved slide on the platform of the tower (1) and insert the

bolts necessary for fixing into the holes present on the slide

(3).

2. Check correct positioning, verticality and parallelism. Fix the
bolts definitively and position the caps.

3. Repeat the operation also on the other side of the

Article Default/ NAME
num. Quantity
1 1 Aladin tower
2 1 Aladin PE archway
3 1 Curved slide h.84
4 4 IS07089 @8 washer
> 4 M8x180 TORX screw
6 4

slide.

PE cap

NOTE: COLOURS AND MODELS
REPRESENTED ARE PURELY
INDICATIVE

Le misure del disegno sono espresse in CIML

EEOLZEORS

lellcianze general apghcats,

*Sesoncfdamelre kyname impreynate £ 0.5 lenl
'l unghezza legname impereqnatm 1% ung miale)
‘LaworaZion iegnemme impeeqat + 0.2 (em)
*Componcnliin mélallo g 1 (Hm)

*['omponenki in altn makerilah plashed + 1 5 (mm)

denominazionectrsioni di mantaggio scivolo curvo
/o cliente:

pe con entratina lina
ALADIN - MAX - SULTAN - OXI - CASIS

firma esecutore:

A%:Q/U.’/ data:

03.03.2011 | pag. 1/1




1) PE cap (6x)
2) PE nut protection cap (6%) 1. Position the curved slide (5) assembled to the tower,
keeping the entry to the tube in correspondence with the
3) M8 washer (6x) height of the platform.
2. Fix using the relevant bolts, as indicated in the figure.
4) M8x130 (6x) LG* TEL screw The following instructions are also valid for the tube bridge.
4) M6 3x100 TEFR screw (6x) AL*

NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
* LG: wood e
* AL: aluminium once the correct positioning of the
elements has been verified.

Le misure scno espresse in cm. @@M%@%@
tenominazione . T ;
Coleri e medelli rappresentati efo cliente : istruzioni di montagqgio
sona puramente indicativi scivolo tubo
4
. ) . ] nr.
firma esecutore : ?z@ data: 17.06.2011 pag.1/1




1. Fix the panel in PE to the struts using the relevant bolts, as

indicated in the figure.

The instructions can be applied to all multifunction panels in PE;

the procedure does not change.

The lower part of the panel must be positioned at the same height

as the platform.

NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the
elements has been verified.

r

-,

1) PE cap (6x)

2) PE nut protection cap (6x)

3) M8x130 (6x) LG* TEL screw

3) M6 3x100 TEFR screw (6x) AL*
4) M8 washer (6x)

* LG: wood
* AL: aluminium

Le misure sono espresse in cm.

EOZEIE

denominazione

istruzioni di montaggio

Colori e modelli rappresentati efo cliente :
sono puramente indicativi pannello multifunzione in pe
14
firma esecutore : %&ﬁ data: 17.06820171 |™ pag.1/1




NOTA BENE: it is recommended to fix
the bolts definitively and only insert
the caps once the correct positioning
of the elements has been verified.

1. Position the PE parapet between the struts,
resting the two lower fixing wings on the platform
and then fix using:

4 x M8 washer (3)

4 x M8x80 TEL screw (2) WOOD

4 x M6 3x60 TEFR screw (2) ALUMINIUM

4 x @25 winged PE cap

2. If necessary, repeat the operation on the other parapets.

Le misure scno espresse in cm.

SRZENEET

Celori e modelli rappresentati
sona puramente indicativi

i

denomina sione
efo cliente :

parapetto in Pe Max/Sultan/Oxi

istruzioni montaggio

firma esecutore : ‘%@ﬁ

data : 16.06.2011

nr.

pag. 1/1




NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the
elements has been verified.

1. Fix the steps panel (1) under the tower
platform measuring 144 cm using the
bolts indicated in the figure.

1) 1 x steps panel

2) 4 x PE cap *
3) 4 x M8x80 TEL screw LG* ~
3) 4 x M6 3x60 TEFR screw AL* \ J‘L
4) 4 x M8 washer

5) 4 x PE nut protection cap

Height from
the ground
h=80cm

*LG: Wood
*AL: aluminium

Le misure scno espresse in cm. @@M%@%@
tenominazione . - . .
Colori e modelli rappresentati efo cliente : istruzioni di montagglo
sona puramente indicativi pannello scaletta

1
firma esecutore : ‘%@ data ; 22.02.2011

nr.

pag. 1/1




1) PE cap (4x)
2) PE nut protection cap (4x)
3) M8 washer (4x)
4) M8x80 (4x) LG* TEL screw
4) M6 3x60 (4x) AL* TEFR screw
5) Assembled bench
>
=

N

* LG: wood
* AL: aluminium

NOTA BENE: it is
recommended to fix the
bolts definitively and only
insert the caps once the
correct positioning of the
elements has been verified.

Le misure scno espresse in cm.

SHLZETES

denomina sione

istruzioni di montaggio

Celori e modelli rappresentati efo cliente :
sona puramente indicativi panchina giOChi
44
. ) . ] nr.
firma esecutore : %@ data: 17.06.7011 pag.1f1




Article | Default/ CODE N. NAME
num. Quantity

1 1 - PE roof

xpelO PE nut protection cap

xpell16 |PE cap

IS07089 @8 washer

DD DD

2
3
7
6

M8x80 TEL screw

The models represented are purely
indicative.

. These instructions are applicable to

\ Max, Sultan and Aladin roofs.

1. Position the roof on top of the struts with the brackets positioned
as in figure A.

2. Insert the bolts necessary for fixing in sequence, as indicated in
figure B.

3. Repeat the operation on all 4 struts.

|
!
o~
M Tir-. |
|
i —
|
|
|
ey
BOLTS POSITION ‘\‘s
R - l L ’ N"'\-h_ _..-4-“’4’" A

Le misute del disegno sono espresse in. CMN %@” ?)%[/@U@O@

Tolleranze aensrah appheate: denominazione H H " y
*Sezion/didmeire lograms imprognato + 0.5 (em) . ) 1struzioni d| mUntagg|U
"Lunghezza legname impregnata 1%]lung botalsl 3;0 cliente: . L.

“Lavaraziant kgname wnpregnake + 0.2 (cml tetto In pDiletl lene
*Compunenliin melalle + 1 imm)

“Campanenti in altri materilah plastici | 1.5 /mm) Linea Max / Sultan l Aladin

firma esecutore: A/Ff};&ﬁr‘ data:  27.07.2010 ‘ nr. pag.1



60

3. Complete concrete casting as per
layout.

4. When the concrete has set, fill the
hole by compacting the infill material up
to the finished ground level.

1. Excavate a hole with diameter of 30 cm

and depth of 60 cm as per layout.

2. Cast a first layer of concrete with

thickness of 10 cm.

40

60

Le misure del disegno sono espresse in-~ CITL

LA

Tolleranre nenerali applicate:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)

denominazione

:Il_unghcz_xs _kignamc impregnale Nill[.lr;g.tnl.akl Efo cliente; iSJ[rI.IZiDﬂi di mDﬂtaggiD
s e interro Puff
“Compouenli inalln maleilali plastivi £ 15 lnml

firma esecutore: AM data: 12.02.07 nr. pag.1




1. Excavate a hole with diameter of 50x50
cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm. |

Le misure del disegno sono espresse in CM

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lmib

denominazicne o )
efo cliente; Istruzioni di montaggio

interro montanti

firma asecutore: 74/&&,‘},

data: 31.05.0% nr. Pag.1




3. When the concrete has set, position the strut/s in the centre checking the correct alignment of
the relevant mark with the finished ground level.

Le miswre del disegno sono espresse in cm g%@]:z%g@gg@

Tolkeran=s nenerali applica be: denominaziche

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | H [ -
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente; |StrUZIO ni dl montagg 1a]
*lavorazioni legname impregnato + 0.2 (em) H H
*Compenenti in metalle +1 [mm] interro mantanti

“Compouenli inalln maleilali plastivi £ 15 lmib

firma esecutore: 74/5‘6{‘;’ data: 31.05.05 nr. Pag.2




60

4. Complete concrete casting as per layout.
5. When the concrete has set, fill the excavation hole by compacting the
infill material up to the finished ground level.

Le misure del disegno sono espresse i CM g:g’@ﬁ;ll Zg%@fjgs'{a}

Tolkeran=s nenerali applica be: denominazi@ne

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | - - - -
*Lunghcszd kgname impreghale 190 lomg. tolab:) Efo C||ente- |St ruzioni d| mao ntagg|0
*lavorazioni legname impregnato + 0.2 (em) - <
*Compencnti in metalk £ 1 [mm] interro montanti

“Compouenli inalli maleilsli plastivi £ L5 hnml

firma esecutore: 74/5‘6{‘;’ data: 11.05.05 nr. Pag. 3




sequence: PE nut protection cap (2), M8 washer (3), ",

M8x25 HEX screw (4), PE cap (5)

1. Attach the brackets (1) by introducing the following in/\/\/\/

1. Excavate two holes with diameter of 30 cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm.

NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the
elements has been verified.

e
@ 0.00

[ 1

39

3. When the concrete has set, position the climbing board brackets in
the hole, checking the correct alignment of the lower part of the
climbing board with the finished ground level.

4. Complete concrete casting as per layout.

5. When the concrete has set, fill the hole by compacting the
infill material up to the finished ground level.

N

Le misure scno espresse in cm.

SHLZECES

Celori e modelli rappresentati
sona puramente indicativi

i

tenominazione ] .- -
efo cliente : istruzioni di mantaggio

interro pedana di risalita Pe

firma esecutore : ?z@

data :

15.02.2011 . pag.1




1. Excavate a hole with diameter of 30 cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm. S

Le misure del disegno sono espresse in CIM g:g’@ﬁ;ll Zg%@fjgs'{a}

Tolleranz= nenerali applicate: denominazicne

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | . . e .
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente; Ist[u2|0 ni d| montagg 1Q
*lavorazioni legname impregnato + 0.2 (em) - -

“Component] in meralie + 1 (mm) interro scivolo curvo Pe

“Compouenli inalli maleilsli plastivi £ L5 hnml

firma asecutore: 74/5‘6{‘;’ data: 31.05.058 nr. Pag. 1




3. When the concrete has set, position the slide bracket in the
Y—excavaﬁon hole, checking the correct alignment of the lower
% part of the slide with the finishedground level.

Y

\

\

Le miswre del disegno sono espresse in CM

Tolkeran=s nenerali applica be:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lmib

= == /// //
/ /
/
: /@ |
| /
A
}: [1':
-
‘ "i;\ -
. } -
_ BCLZERED
g;_-;glrir::;a;:one !struzioni-dilmontaggpio
interro scivolo curvo Pe

data:

31.05.05

nr. Pag. 2

Abtiers

firma asecutore:




AN

40

30

/4. Complete concrete
casting as per layout.

5. When the concrete
has set, fill the
excavation hole by
compacting the infill
material up to the
finished ground level.

Le miswre del disegno sono espresse in

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalli maleilsli plastivi £ L5 hnmi

denominazione

efo cliente;

Istruzioni di montaggio
interro scivolo curvo Pe

firma asecutore:

Abtiers

data:

31.05.05

nr. Pag 3




1. Excavate two holes with diameter of 30 cm and depth of 60 cm

=.as per layout.

2. Cast a first layer of concrete with thickness of 10 cm.

Le misure del disegno sono espresse in CIM

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lnml

HE) ZREE
denominaziche

efo cliente: Istruzioni di montaggio
interra scivolo tubo Pe

firma asecutore: 74/&3 /‘f‘

data: 07.02.07 nr. Fag. 1




20-35 cm

!
\\ |
| |
: ~ T N -
gy 3
o .
i r

The measurements vary on the basis of the entrance to the slide
from a minimum of 20 to a maximum of 35 cm.

Le misure del disegno sono espresse in CHNL

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalli maleilsli plastivi £ 15 hnml

denominazione
efo cliente;

Istruzioni di montaggio
interro scivolo Tubo Pe

firma asecutore:

Abiori

data:

07.02.07 nr.

pag.?




3. Complete concrete casting as per layout.
4. When the concrete has set, fill the hole by compacting the infill material up

to the finished ground level.

.
»
‘

Le misure del disegno sono espresse in CIM. %@LZ%@@B@

Tolkeran=s nenerali applica be: denominaziche
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | - - - - -
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente: 1struzioni d| mo ntagg|0
*lavorazioni legname impregnato + 0.2 (em) - .

interro scivolo tubo Pe

*Compenentiin metalke £ 1 [mm)
“Compouenli inalli maleilsli plastivi £ 15 hnml

firma esecutore: AM data: 07.02.07 nr. pag. 1




Article | Quantity CODE N.

num.

NAME

IS0O7089 @8 washer

D10 washer

MT0 self-Tocking nut

MT0 self-locking screw anchor

b 5X50 TEFR screw

xTe265

59x59x35 stainless steel angle bracket

xpelO

PE nut protection cap

00| | O V1| B W[ N —
NN = = = = =] —

xpell6

PE cap

1. Position the strut and the angle bracket

on the support surface, marking the position of the screw anchor.

2. Drill the support surface and position the screw anchor.
3. Fix the angle bracket to the support surface (if not previously

performed) using the relevant bolts, as indicated in the figure.

Le misure del disegno sono espresse in CIMN

O] ZE S

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalli maleilsli plastivi £ L5 hnml

denominazione
efo cliente;

istruzioni di montaggio
ancoraggio mantanti in alluminio

firma asecutore: 74/5@ /‘f‘

data: 15.10.07 nr.

4209




1. Position the climbing board on the support surface and

Article
num.

Quantity [CODE N. NAME

mark the position of the screw anchors.

xpel0 PE nut protection cap

2. Drill the support surface and position the screw anchors.
3. Fix the angle brackets to the support surface using the

xpell16 PE cap

- PE climbing board

relevant bolts, as indicated in the figure.

D W N —

N = N N

bracket

xfe265 59x59x35 stainless steel angle

MT10 self-lTocking nut

@10 washer

N Vi

N N N

- M8x115 screw anchor

OTE: the combination of colours and models
represented is purely indicative.

The climbing board can be at a height of 84-
144-192 cm.

Le misure del disegno sono espresse in CM

O LZE O

Tolleranre nenerali applicate:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)

denominazione . . e ]
istruzioni di montaggio

*Lunghecszd kyname impregnale 190 lung. tolak) Efo cliente; h

*lavorazioni legname impregnato + 0.2 (em) | ncoragglo Peda na

*Compenentiin metalic 1 [mm] - . - f

“Compenenli inalln maleilali plastivi £ 15 lnml dl rlsallta 1n Pe
firma esecutore: 74/5‘6{‘;’ data: 19.06.06 nr. pag. 1




Article num.| Quantity CODE N. NAME
1 1 xfe265 59x59x35 stainless steel angle bracket
2 2 xpel0 PE nut protection cap
3 2 xpell6 PE cap
4 1 _ MTO0 self-Tocking nut
5 1 _ M8xTT5 screw anchor
6 1 _ @10 washer

1. Position the slide on the support surface, marking the position of

the screw anchor.

2. Drill the support surface and position the screw anchor.

3. Fix the angle bracket to the support surface using the relevant

bolts, as indicated in the figure.

—

—
[ N.B. The combination of colours and models represented is

purely indicative.
The slide can be at a height of 84-144-192 cm

Le misure del disegno sono espresse in~ €M

O] ZE RO

Tolleranre nenerali applicate:

denominazione

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalli maleilsli plastivi £ L5 hnml

efo cliente;

istruzioni di montaggio
ancoraggio scivole curvo pe

firma asecutore:

Abtiers

data:  16.02.2011 |

pag.1




T Article Quantity NAME

I." 1 A — — num.
Tube slide anchorage bracket

PE nut protection cap

S :

MT0 self-Tocking screw anchor

@10 washer

MTO self-Tocking nut

PE cap

(2] 1% | ENRVS)
00| 00| 00| 0| ©of N

20-35cm. ——=

S~
~
Sy
1':;
___E;__
&
%

V

\
|
ﬂ
™

1. Adjust the bracket (1) to the necessary height.
2. Mark the position of the screw anchors on the ground.

3. Drill the support surface and position the screw anchors.

4. Fix the bracket to the support surface using the relevant bolts, as
indicated in the figure.

Le misure del disegno sono espresse in CIML %@LZ%@@B@

Sl BmET e pame Inpreamato £ ) denominazione ioni di :
*lunghcsza kgname imprcgnallo 11 lung, totak:) EfO cliente; IStrUZIOnl I montagg 10
*lavorazioni legname impregnato + 0.2 (em) - .

“Componcat i et 31 (] ancoraggio scivolo tubo
“Compouenli inalln maleilali plastivi £ 15 lnml

firma esecutore: AM data: 12.02.07 nr. pag.1




